for Kaori Nakagima

19 The moon falls through the Autumn
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* Choose a constant speed for the 'bell-chords', fitting all other music around them. Use 3rd pedal on the chords to sustain them.

Otherwise use pedals ad lib. to sustain lines within other music.

© Andrew Toovey



[e)
(e\|
g g, 2 Il
= & ) T ols
b 1% I 3
0 .
NN & [I]1f <
SN -
. S R == N
0 QLR
<y YT 9 8|
. ax o o
111162 Z.4III J Sl iy ESiliilis ;
NI o N B 12
HHuﬂﬂ 7 »M.WH: Xu':
g ¢ ~
1< - s
Jt: |m ~ -
RN ) 4l Qe
118, W =
ey T 2 e il
& Ll ) N &4
N T QLR B g
NI AR T
ghd [ W A xRl w_q,
QLR L QL
NBRLE CHENEN Q o e o [
T NS )
0 e
1 N
81| ) il ¢l
) 2 |6 -
i L _____uA.W 3
Sl ™ -
By m
dll A i
g = s 4l b
I B = YRR YHHS
_____ i W b T R yEpiE
N N NOe N NEe N N en N o9




4

ho

H.O

T

Je

2

:H.O

Pl

DO
A d

:H.O

Lol
e

DO

I b 2
B0 _Fow Sl -
K - iy Y
X001 19
/1] m g 5
0 e p
NI NITIND, IR
RRRMIANEEN
RR
T 0
o Ry
- »Mcui:l_ﬂﬂ ;jwf_.
g g
B
ol P l
2T Ul o
)
qHdH QHMH T
n____.lmn_, s QHH
O XX
el il . T
e = il
_, 1 4l
T il g
=9l [111] Rl
B ==
o
T Ik
b (l
QL N RS- 1 L]
o
& | T)
5 gl i
il ___H1 ol
4
A ol , lo
qHdH a__.lmn_, a___.mn_ qHdH
NG N DN N X &N 9




22

ML
L

bo

L

:H.O

O

b

Lol

L b

2

7o

H.O

:H.O

:H.O

H.O

o
& e T 0
X‘-
I =y
R QL) NI
=
=
1
™
i ik
= B "
_____LeHB 19 Uil
QL]
MRS ) v Sl
| )
0 d|ll \
LN Rww L]
iy
=
[\
Ple S L]
Kl
x4 N
|
pﬂwﬂ -
N
MR 1Y Ny Ny
O N NG N N




I_mj
@ gl[]]]
Na) %.xu.q m__
YR dl
B o SN
I TR
O/ deh || ) SRl
e hl.lwvw_ _M&MW
= FEl NEENVETERN
E== =
3| g
NN LQH___ .
QLR 11 1 11 11 A ==
Y TIOTO hi -
= By
Eeo - iy
2 : 2l Iz
|8 & N H
o XX
I11p < NI
=
QLI
NI
Yl s 4 I ey sy
E= XX
N NH
W]
9 £
N il
£ 3 Fl
Rug mw EE.N
TN _W _____mqm
\! TN
W WM YN WA Uiy
NG N NG N N N NG N NG N



[pal

i

I

hd

X'
Lo

B

IZP=N
©

b-tet-

S
Aﬁ
F=N
[
c
Ex
oL
SO
R
T
e
%
o
ST
u e =
NENENENEREN
SITTTTOITTD
oy
5 4]/
o
ors
NN
IM_I__ﬁ -
o
N —— —

bo

2=

ge

28

e

o

H.O

RIRE=

[ £ NZP=N

O

PEd

e

X
i

k]
Lo

) ONZP=

DO

Lo

Lo

ho
1S4

He




o

==z

v,
Pk

IZP=Y

ro
7O

10

=
vl

==

:H.O

PEd

b

g s ‘ L 41
L L 4
2 ._RW Fiy
13 o o
o - i
i CHOHR I NI AR -
i
2 |
2 el
g '
i 4 AT Wy
3 1181] =L
hs 111 t
A 3l
™ B 4l =
il I
_m T M NM T Xy
£33 ﬁ___ﬂ__u: =33 Q_Z,__Ln_l e i
N W
0 T
I3 . X L 4
it ! 2
| gl
s 16 g
* MR R QoL = el il
o NG N NG NI NG N NG <

b
Bl




briot

\O
(e\l
Fl
YININ
S q1191
q
QLU LD o
0 XTI el
o
C XX
m____ AL L
YT jRsap
a\
QLN Q N YN
NN NI NN
[l [’
W QLIS
NTINTE N1k NIVEG:S H_
_w AR Eiaats
E o XX
VAR R I
QL
: 9l
ay - &
I [o]
Lf&‘ﬂ JAXIXT H
NI AL QLIS AL QL% W
=Y N reascens SN i — YR (QLHS N ToT]
N NG N NG N N NG o =




q
qHH
IR
Bl 1T 1 H
o
ML
LRI
LR
MEAENERS
|E S
by Q9L 3
q qHdH
E{
ML WL
QLR
NN LN ML NI
N N NG N N N <




